Complete the following questions using the data from your group recording sheet.

1. Roll with 1 book: Rewrite the answers you had for number one of the recording sheet:

Comparison Symbol
Observer 1 p< S :y Observer 2

2507 , > 2 .385

Explain why the comparison symbol you chose makes the comparison true?

Qbserier 1 <ot 7 509 L«l'&',l'c’.j] is bidotr %L?&F JOn e see i Yol look gy}

LLp 42plhs

2. Roll with 2 books: Rewrite the answers you had for number two of the recording sheet:

C i Symbol
Observer 1 ompinsin =ym © Observer 2
1745 4 2,546

Explain why the comparison symbol you chose makes the comparison true?

259 ones is bidltr’ than 1403 oues Yate,

3. Roll with 3 books: Rewrite the answers you had for number three of the recording sheet:

Observer 1 Compiﬁsin iymbd Observer 2
2.41] Z_ 2.603

Explain why the comparison symbol you chose makes the comparison true?

2612 5 hidhet i pesths plare Jhon 2.4




Write your responses to each of the following reflection questions:

1. Why were the times recorded on the stopwatches different when the two partners were

using similar stopwatches to time the same event?
One Portntt quJ Pogler inshincks shan their witner

2. How did the length of time that the marker rolled change as the height of the book stack

increased?
he marker dot fagher sl il Jounfer dut 402 53 hidy place 4 oS placed on gpi
rolled down,




